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Correction of atmospheric pressure for distillation test

of products of coal carbonization
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1 K
K
1 K=0.320340.00 141(101. 3—P)
2 K=0.3473-+0.00 153(101. 3—P)
3 K=0.3676-+0.00 158(101.3—P)
4 K=0.3676+0.00 164(101. 3—P)
5 K=0.369140.00 164(101. 3—P)
6 K=0.3728+0.00 164(101.3—P)
7 3C.5C.10C K=0.3698-+0.00 164(101.3—P)
8 K=0.3803-+0.00170(101.3—P)
9 K=0.3856+0.00170(101. 3—P)
10 1,3,5- K=0.3826+40.00170(101.3—P)
11 1,2,4- K=0.3886-+0.00 175(101.3—P)
12 1,2,3- K=0.3946-+0.00 175(101. 3—P)
13 1,2,4,5- K=0.4 066-+0.00 181(101.3—P)
14 1,2,3,5- K=0.4066+0.00 181(101.3—P)
15 1,2,3,4- K=0.414140.00 186(101. 3—P)
16 K=0.3593-+0.00 158(101.3—P)
17 K=0.3788+0.00 164(101.3—P)
18 K=0.3698-+0.00 181(101.3—P)
19 K=0.3751+0.00 164(101. 3—P)
20 2,3~ K=0.398340.00 175(101. 3—P)
21 244~ K=0.3901-+0.00 175(101. 3—P)
22 2,5~ K=0.3923+0.00 175(101. 3—P)
23 2,6~ K=0.3976-+0.00 175(101. 3—P)
24 3,4~ K=0.3938+0.00 175(101. 3—P)
25 3,5~ K=0.3886+40.00 175(101. 3—P)
26 K=0.3796-+0.00 170(101. 3—P)
27 K=0.3781+0.00175(101.3—P)
28 K=0.3541-+0.00 170(101. 3—P)
29 K=0.3473+0.00 170(101. 3—P)
30 K=0.384140.00 181(101.3—P)
31 K=0.3593-+0.00 170(101. 3—P)
32 2,345~ K=0.4096-+0.00 181(101.3—P)
33 K=0.3398-+0.00 153(101.3—P)
34 a- K=0.3518+0.00 158(101. 3—P)
35 B- K=0.36534+0.00 158(101. 3—P)
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1C )
K
36 - K=0.3661+0.00 164(101.3—2P)
37 2,6~ K=0.3616+0.00 158(101.3—2P)
38 25— K=0.3736+40.00 164(101.3—P)
39 2,4~ K=0.3721+0.00 181(101.3—2P)
40 2,3- K=0.3766+0.00170(101.3—2P)
41 345 K=0.3856+0.00175(101.3—2P)
42 3,4~ K=0.3931+0.00 175(101.3—2P)
4.3 K
K 2 :
K=a+bT'+c(101.3 —P) «(2)
:T— , C;
ab.c o
r Ly (€D 101. 3 kPa T,
T:z+[a+c(1o1.3—P)](101.3—P) “(3)
1—6001.3 —P)
s P (kPa) ( )3
ab.c (2) o
K 2,
2 K
K
1 K=0.2566+0.000 795 7T"+0. 001 64(101. 3—P)
2 K=0.2 61840.000 570 7"+0. 001 70(101.3—2P)
3 K=0.2 356+0.000 893 7"+0. 001 58(101.3—1P)
4 K=0.3263+0.000 503 7"+0.002 04(101.3—2P)
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